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Capacitor network



Problem:

* What is the potential drop across the first
capacitor C,?




Relevant ideas:



Relevant ideas:

* Voltage-charge relationship: AV.=Q/C.
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Relevant ideas:

* Voltage-charge relationship: AV.=Q/C.

* Equivalent capacitance for series and parallel

capacitor combinations.
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Relevant ideas:

* Voltage-charge relationship: AV.=Q/C.

Equivalent capacitance for series and parallel
capacitor combinations.

e Series capacitors are charged to the same Q,
since the same current passe$ through them.
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Equations associated with ideas:
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Strategy

* Replace the parallel pair by a single capacitor
with the capacitances added.



Strategy

* Replace the parallel pair by a single capacitor
with the capacitances added.

* The series capacitor circuit splits the battery
to different voltage drops.
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Strategy

* Replace the parallel pair by a single capacitor
with the capacitances added.

* The series capacitor circuit splits the battery
to different voltage drops.

 The charge is the same in both series-
connected capacitors, this allows to determine

the voltage split.
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Coul = 2+ XYM F = 2¢ uF




Solution

Coul = 2+ )M F = 2¢ uF
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Solution

2+ 2)puF = 2¢ mF
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Solution

o Co = (24 2)ME = 2¢ mF
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